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1.    
(𝑎𝑎 − 𝑏𝑏)3

𝑎𝑎2 + 𝑎𝑎𝑎𝑎 + 𝑏𝑏2
:
𝑎𝑎2 − 𝑏𝑏2

(𝑎𝑎 + 𝑏𝑏)2 = ? 

𝐴𝐴)𝑎𝑎 + 𝑏𝑏           𝐵𝐵)
(𝑎𝑎 − 𝑏𝑏)3

𝑎𝑎2 + 𝑎𝑎𝑎𝑎 + 𝑏𝑏2
         𝐶𝐶)

(𝑎𝑎 − 𝑏𝑏)3

𝑎𝑎3 − 𝑏𝑏3
 

            𝐷𝐷)
(𝑎𝑎 − 𝑏𝑏)3 ∙ (𝑎𝑎 + 𝑏𝑏)

𝑎𝑎3 − 𝑏𝑏3
             𝐸𝐸)𝑎𝑎 − 𝑏𝑏 

 

 

 

 

 

 

2.     √15 ∙ 17 ∙ 19 ∙ 21 + 16 = ? 

𝐴𝐴)324      𝐵𝐵)225      𝐶𝐶)319      𝐷𝐷)220      𝐸𝐸)219   

 

 

 

 

 

 

3.   lim
𝑥𝑥→64

√𝑥𝑥 − 8
√𝑥𝑥3 − 4

= ? 

𝐴𝐴)0      𝐵𝐵)∞      𝐶𝐶) 3
2

      𝐷𝐷) 2
3

      𝐸𝐸)3   

 

 

 

 

 

 

 

 

4.  lim
𝑥𝑥→∞

𝜋𝜋𝑥𝑥+1 + 𝑒𝑒𝑥𝑥−3

4𝜋𝜋𝑥𝑥 + 21
= ? 

𝐴𝐴)0      𝐵𝐵)∞      𝐶𝐶)
1
4

      𝐷𝐷)
𝜋𝜋
4

      𝐸𝐸)
1

4𝑒𝑒3
 

 

 

 

 

 

 

 

5.   ��3𝑥𝑥2 +
5
𝑥𝑥

+ 𝑒𝑒𝑥𝑥�𝑑𝑑𝑑𝑑 = ? 

𝐴𝐴)𝑥𝑥3 + 𝑙𝑙𝑙𝑙𝑙𝑙 + 𝑒𝑒𝑥𝑥 + 𝑐𝑐       

𝐵𝐵)𝑥𝑥3 + 5𝑙𝑙𝑙𝑙𝑙𝑙 +
𝑒𝑒2𝑥𝑥

2
+ 𝑐𝑐       

𝐶𝐶)
3
2
𝑥𝑥3 + 𝑙𝑙𝑙𝑙5𝑥𝑥 + 𝑒𝑒𝑥𝑥 + 𝑐𝑐       

𝐷𝐷)𝑥𝑥3 + 5𝑙𝑙𝑙𝑙𝑙𝑙 + 𝑒𝑒𝑥𝑥 + 𝑐𝑐       

𝐸𝐸)
2
3
𝑥𝑥3 + 5𝑙𝑙𝑙𝑙𝑙𝑙 + 𝑒𝑒𝑥𝑥 + 𝑐𝑐 
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6.    
2

log4 6
+

4
log3 6

−
1

log𝑥𝑥 6
= 2 

⟹ 𝑥𝑥 = ? 

𝐴𝐴)6      𝐵𝐵)18      𝐶𝐶)36      𝐷𝐷)12      𝐸𝐸)24   

 

 

 

 

 

 

 

 

7.     112 = 1 + 3 + 5 + ⋯+ 21 

           92 = 1 + 3 + 5 + ⋯+ 𝑥𝑥 

⟹ 𝑥𝑥 = ? 

𝐴𝐴)21      𝐵𝐵)9      𝐶𝐶)10      𝐷𝐷)17      𝐸𝐸)19  

 

 

 

 

 

 

8.   �1 −
1
4
� ∙ �1 −

1
9
� ∙ �1 −

1
16
� ∙ … ∙ �1 −

1
400

� = ? 

𝐴𝐴)
21
40

        𝐵𝐵)
21
20

        𝐶𝐶)
21
2

        𝐷𝐷)
19
40

        𝐸𝐸)
19
2

 

 

 

 

 

 

 

9.     3,   8,   23,   𝑥𝑥,   203,   𝑦𝑦 

𝑦𝑦 − 𝑥𝑥 = ? 

𝐴𝐴)542      𝐵𝐵)543      𝐶𝐶)540      𝐷𝐷)545      𝐸𝐸)541   

 

 

 

 

 

10.     √𝑥𝑥 + 2 − √𝑥𝑥 − 2 = 𝐴𝐴 

          √𝑥𝑥 + 2 + √𝑥𝑥 − 2 = ? 

𝐴𝐴)4 + 𝐴𝐴      𝐵𝐵)4 − 𝐴𝐴      𝐶𝐶) 𝐴𝐴
4

      𝐷𝐷) 4
𝐴𝐴

      𝐸𝐸)4𝐴𝐴   

 

 

 

 

11.   𝑓𝑓(𝑥𝑥3 + 2𝑥𝑥) = 3𝑥𝑥3 + 6𝑥𝑥 + 17 

⟹ 𝑓𝑓(8) = ? 

𝐴𝐴)24      𝐵𝐵)31      𝐶𝐶)23      𝐷𝐷)25      𝐸𝐸)41  

 

1-D 7-D 

2-C 8-C 

3-D 9-C 

4-D 10-D 

5-B 11-E 

6-C  

 

By yoslovers 


